KEK,



* Shower call 1oop” CALL
SHOWER

— ucna

— ucphantom_recl.mor



° 192|r

192| r y

Y
(CDF), F(Ei),
| | Energy(MeV) | Emissionrate(%) | F(E)
1 0.296 28.7 0.0999
2 0.308 30.0 0.2832
3 0.317 82.8 0.6826
4 0.468 47.8 0.9132
5 0.589 4.5 0.9252
6 0.604 8.2 0.9744
7 0.612 5.3 1.00




F(E.)=8& p,Eh<F(E)=& p,

J=1 =1



$RANDOM SET EO;

| F(EO.L T.0.0999) [E1=0.296;]

EL SEIF(E0.L T.0.2832) [E1=0.308;]
EL SEIF(EO0.LT.0.6826) [E1=0.312;]
EL SEIF(EO0.LT.0.9132) [EI=0.468;]
EL SEIF(EO0.LT.0.9252) [EI=0.589;]
EL SEIF(EO.LT.0.9744) [El=0.604;]
EL SE [El=0.612;]

TOTKE=TOTKE+EI;

TOTKE STEP7 0
STEP7 TOTKE=NCOUNT*AVAILE;



* B

- E<Ex<---<E,
— En B

(CDF)
F(E,), F(E,), ..., F(E.), E
- F(E)<h<F(E,) |
- B Eg =

c-g + 0 F(E) (EsE)
F(E.)- F(E)




b-ray distribution function

192|r

Average energy 0.175

RN
S

N

\ 4

E,

b-ray energy (MeV)

E13

0
0O 005 01015 02025 03035 04045 0505 0.6 065



.192|r

F(E)

B E

EMev) | FE) | i | EMeV) | F(E)
1 0.00 0.000 0.35 0.887
2 0.05 0.188 0.40 0.936
3 0.10 0.355 | 10 0.45 0.968
4 0.15 0.503 | 11 0.50 0.987
5 0.20 0.630 | 12 0.55 0.997
6 0.25 0.736 | 13 0.60 1.000
I 0.30 0.820




$RANDOMSET RN14;

DO |E=2,NEMAX [
|F(RN14.LE.PDF(IE)) EXIT:]
]
E0=ES(I E-1)+(RN14-PDF(I E-1))* (ES(I E)-ES(I E-1))/(PDF(I E)-PDF(I E-1));

EI=EO0+PRM;
"PRM: rest mass of electron. El istotal energy.”

TOTKE=TOTKE+EQ;

Step 7 'ES PDF



Regection :Von Neumann's method

, 1(E),
von Neumann' s method E

> <

F*(E)=f(E)/(Maximum of f(E): a£ E £b)

1 ¥
((Ephy) B
TN

( (Elth)

hVd

hVd

0 a FE b



a b
E =a+h,(b- a);h, :QEldx I(b- a)=(E, - a)/(b- a).
y , Y=F(Ey).
h2 El



(PDF)
f (x)cx = dx/(b- @); ) f (x)clx

h =F(X) =(5f(x)dx = (x- a)/(b- a)

X x=a+h(b-a)

SRANDOMSET RNO;
XI=XMIN+RNO* (XMAX-XMIN);
"XMIN and XMAX areaand b, respectively.”




» <




f(r)dr = 2pdr /p (R? - R?) = 2rdr /(R? - Rf);(ilf(x)dx =1.
h, =F(r)=Q f)dx =(r*- R)/(R - RY)
r :\/Rg +h1(R12' Roz)

o X y
X=r cos(f )

y=rsin(f)



SRANDOMSET RN1;
R02=R0*R0O: R12=R1*R1;
RR=SQRT(R02+RN1* (R12-R02));
SRANDOMSET RNZ2;
PHAI=PI*(2.0*RN2-1.0);
"COMIN/UPHIOT/ must beincluded to use PI”
XI=RR* COS(PHAI);
YI=RR*SIN(PHAI);




. (xy)
o-1£XE]; -1EYEL

. R/R<R<1

“rgjection” method

» <

(hphy)

X
(h l’hZ)

» X

o/R1




:SAMPLING:$RANDOM SET RNS3;

SRANDOM SET RN4;

X10=2.0*RN3-1.0;

Y10=2.0*RN4-1.0;

RR=SQRT (XI10*X10+YI10*Y10);
IF(RR.GT.1.0.0R.RR,LT.R0O/R1) [GO TO :SAMPLING:;]
XI1=R1*XI0; YI=R1*YIO;




rejection
(%,Y:,2)

-1E XEL -1EYEDL; -1E ZE£].
1

R= X +y2+7 £1

uv,w

u=x/Rv=y,/Rw=z/R

X Yir 4



:SAMPLING:$RANDOMSET RN9;
$RANDOM SET RN10;

$RANDOM SET RN11;
X0=2.0*RN9-1.0;

Y 0=2.0RN10-1.0;

Z0=2.0"RN11-1.0;
RR=SQRT (X0* X0+Y0* Y 0+Z0* Z0):
IF(RR.GT.1.0) [GO TO :SAMPLING:;]
UI=XO/RR; VI=YO/RR; WI=ZO/RR;




